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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

Question numbers 1 to 10 carry 1 mark each. Out of four given options choose the correct
one.

mis
(A) a rational number (B) an integer

(C) an irrational number (D) a whole number

. 56 .
The decimal form of 1000 is :

(A) 0.56 (B) 0.056 (€)

Zero of the polynomial p (x)=cx+d is:

d
c

(A) -d B) -—c (©

Degree of the polynomial p (x)=4x*+2x3+x°+2x+7 is :
A) 7 B) 4 © 5

If the point P lies in between M and N and C is midpoint of MP then :
(A) MC+PN=MN (B) MP+CP=MN (C) MC+CN=MN (D) CP+CN=MN

If the measure of an angle is twice the measure of its supplementary angle then the measure
of the angle is :

(A) 60° (B) 90° (C) 120° (D) 130°

In figure 1, if PQ||RS then the measure of m is :

P Q,

>

27°
Figure 1

R

(A) 110°
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In AABC if AB=BC then :
(A) «4B>«C (B) ZA=«C (C) ZA=«B (D) ZA< «C

If AABCZ ADEF by SSS congruence rule then :
(A) AB=EF, BC=FD, CA=DE (B) AB=FD, BC=DE, CA=EF
(C) AB=DE, BC=EF, CA=FD (D) AB=DE, BC=EF, ZC=/F

The complement of an angle m is :
(A) m (B) 90°+m (©) 90°—m

SECTION -B

Question numbers 11 to 18 carry 2 marks each.

Simplify : (3 + /3) (2 + JE)Z.
Simplify ¥ %/372 and express the result in the exponential form of x.

Find the value of the polynomial p (z) =3z2—4z+ /17 when z=3.

In figure 2, X and Y are two points on equal sides AB and AC of a AABC such that AX=AY.
Prove that XC=YB.

A

Figure 2

1
If a point C lies between two points A and B such that AC=BC, then prove that AC= EAB'

Explain by drawing the figure.
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16. In figure 3, find the value of x.

Figure 3

OR

In figure 4, if x= y=w + z, then prove that AOB is a line.

C

(5

A

Figure 4

17. In figure 5, if ZPOR and ZQOR form a linear pair and a—b=80° then find the value of
a and b.

Figure 5

18. Name the quadrants in which the following points lie (=5, —4), (2, —4), (=7, 6) and (2, 3).
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SECTION-C

Question numbers 19 to 28 carry 3 marks each.

Simplify the following by rationalising the denominator.

7\/3 — 52
J48 + /18

OR

3 -1

=a +bJ/3
If 5B 11 , find the value of a and b.

— 1%
Express 15.712 in the form a where p and q are integers and q= 0.

If a2+b2+c2=250 and ab+bc+ca=3 find a+b+c.

1 1
If x + T =7 then find the value of x> + —-
X

OR

If x — l = 3 then find the value of - i
X x3

Find the value of ‘p’ if 5P =3 x 3% ~8 = 205

In figure 6, find the value of x.

A

45° 50°
Figure 6
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In figure 7, if AB||CD then find the value of y.

Figure 7

In figure 8, if QT L PR, ZTQR=40° and £ZSPR=30° find the value of x and y.

Figure 8

Show that in a right angled triangle the hypotenuse is the longest side.
Sides of a triangle are in the ratio 13 : 14 : 15 and its perimeter is 84 cm. Find its area.

Plot the points (3, 2), (=2, 2), (=2, —2) and (3, —2) in the cartesian plane. Join these points
and name the figure so formed.

SECTION-D
Question numbers 29 to 34 carry 4 marks each.
For what value of the polynomial 2x3+ax?+ 11x+a+3 is exactly divisible by 2x—1.
OR
Without actual division prove that x*+2x3—2x2+2x—3 is exactly divisible by x%+2x—3.

0.75x0.75 X 0.75 + 0.25 X 0.25 X 0.25 _ 1
0.75x0.75 - 0.75 x 0.25 + 0.25 X 0.25

Prove that

Factorise a’ + ab®.
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In figure 9, if AC=BC, /DCA= ZECB and ZDBC= ZEAC then Prove that BD=AE.

D E

C
Figure 9

In figure 10, D is a point on side BC of AABC such that AD=AC. Show that AB > AD.

A

D
Figure 10

Prove that two triangles are congruent if any two angles and the included side of one triangle
is equal to any two angles and the included side of the other triangle.

OR

In figure 11, OP bisects £ AOC, OQ bisects ZBOC and OP 1. OQ. Show that points
A, O and B are collinear.

Figure 11
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Uk :
(A) TFET GE B (B) Ul 2|
(C) i de B (D) Ui HeT R

20 o e T E
1000 '

(A) 0.56 (B) 0.056

Wp(x)zcx—kd%’%ﬁ%:

(A) —d B) -—c

TEUS p (1) =4xt+ 203 + 25+ 2x +7 FT ¥ ¥ :
A 7 (B) 4 (€ 5

Ifg fag P foig M 3R N & o9 # feera ® sik MP &1 wien fag C R 41
(A) MC+PN=MN (B) MP+CP=MN (C) MC+CN=MN (D) CP+CN=MN

3R T 10T STI YLk I T AT o ST 0 H1 TH ¢
(A) 60° (B) 90° (C) 120° (D)

et 1 °, a7 PQ|[RS dl m =1 HH & :
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AABC ¥, Ife AB=BC dI :
(A) ZB>/C B) ZA=/C (C) ZA=/B (D) ZA< £C

Ife AABC ADEF @ SSS Hafmawar fam 4, i :
(A) AB=EF, BC=FD, CA=DE (B) AB=FD, BC=DE, CA=EF
(C) AB=DE, BC=EF, CA=FD (D) AB=DE, BC=FF, £/C= /F

mW‘I@FW%:
(A) m (B) 90°+m (©) 90°—m

Qg - d

T WEAT 11 § 18 Tk Wcdich WY af ekl ol T

7 FIT : (3 + 3) (2+ V2)

14/3/72 ] B HITST qUT ST 1 x & H1d & &9 H Fd HITIT |

IS p (2) =322—4z+ 17 1 9F F@ HISC AfS z=3.

3TRfd 2 §, AABC &1 ¥9M =sii AB 3R AC W &HW: o fag X iR Y 30 7R feea ® &
AX =AY fag ®IfST f& XC=YB.

A

C

TR fd-2

Wﬁﬁﬁ@aﬁAaﬁIB%aﬁa@ﬁgcwmﬁ%%ACﬂciﬁmW%AC=%AB,
3Mhfa Tigal 38 T HIfTT |
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16. 3P 3 H, x T HH TN HIfaT |

B
JATRTd-3
HAYAT

Wﬁﬂlﬁ, ?T&'x+y=w+z%\’, ﬁfﬁ@ﬁﬁ@ﬁA@wa%

C B

o

A

Tpfd-4

17. 3&fd 5, af LPOR IR £ QOR TH If@s ™™ 91 € d°T a—b=80° 1 a T b T TH I
FHITIT |

O 3
SATHTA-5

18. W =quie & M fad foad ffafea fag feed 1 (=5, —4), 2, —4), (=7, 6) T (2, 3).
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Y99 GG 19 ¥ 28 Tk Yk U9 3 3! T €

733 — 52

YT

J3 -1
KAlNG

i +by/3 2 q b FT M @ HIAT

15.712 aﬁ%%mﬁwaﬁmaﬁpaﬁiqwrﬁ%amqio.
fe a2+ b2+c2=250 3R ab+bc+ca=3 A a+b+c I HIfSTI

1 1
Wﬁ{x+;=7?ﬁx3+—3€mﬂﬂaﬁﬁﬁ|‘ql
X
aterar

qﬁ’x—l=3 a‘tﬁ—%wmaﬁrﬁﬁm
X

X

p %1 HH F1d Sifere afg 5P ~3 x 32P ~8 = 205,

31T 6 H, x T WM 1A HITeT |

A

o5
D

X

45° 50°

TP fd-6

B
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aTRfa 7 #, A AB||CD ¥, @y 1 A 1A HiToT |

C D

<—1i —
< +—>

O y
407
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afd 8 #, A QT L PR, ZTQR=40° 3R £SPR=30° T, Tl x 3R y 1 AH A HiTSC |

Tz foh wHenTor o o ol T ot =T Bl ¢ |

T T3St T el 1 U 13 : 14 : 15 © T 3HHRT URATT 84 H.H. B 1 39 3 *1 &%t F1d
i |

famgati 3,2), (=2, 2), (=2, —2) 3R (3, —2) FI AT Fh 3¢ HHAR HARY | T TR ATHid
&1 9 fafed |

Eusg -q
Y9 AT 29 W 34 Tk Ycdeh U9 4 3kl T )
a & ford 71 & faT 9g9< 23 +ax? +11x+a+3, (2x—1) ¥ Yoiaqar faafea 1

HAYAT

fea fomm fag FIfGT arsa # fawifsa & sgog x + 243 — 202 + 2x — 3 9g9% 42 +2x — 3 & quiaan
faurma &1
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fog W i 0.75 x 0.75 x 0.75 + 0.25 x 0.25 x 0.25 1
0.75x 0.75 — 0.75 x 0.25 + 0.25 x 0.25

TUFETE HIfT a7 +abP.

3Tfd 9 ®, afge AC=BC, /DCA= /ECB 3R /DBC= /EAC ¥ d fag #ifst f& BD=AE.
D E

C +
SThfd-9

3TM&Td 10 H, AABC i 1 BC W T fag D 30 Y&R f¥d € ff AD=AC. T i AB > AD
gl

A

D
3MhTd-10

s HIfvT fw <1 e wafmem 24 €, afc T IS & 1 00 SR IThT ST=ia i gEr 1S o
T IV SR ITeh! ST T o e & |

HAYAT

3Hfd 11 H, OP &I AOC 1 FHIGYNF §1 OQ %I BOC 1 FHGHN ¢ 41 OP | OQ T¥Iisd
& fag A, O 3R B W@ ¥ |
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